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2. Define the following terms:
a. Jsotope

b. Mass number
c. Atomic Mass Unit (amu)

d. Average Atomic Mass

3. Answer the following problems, show all work.

a. Oxygen has the following Isotopes, Oxygen - 16 (abundance = 95%, mass = 16.016
amu), and Oxygen — 15 (abundance = 5%, mass = 15.015 amu). What is the atomic mass

of Oxygen?

b. Hydrogen has three isotopes, Hydrogen - I (sbundance = 96%, mass = 1.00] amu), and
Hydrogen - 2 (abundance = 3%, mass = 2.002 amu) and Hydrogen - 3 (abundance = 1%,

mass = 3.003 amu). What is the atomic mass of hydrogen?

C. Anunknown element has the following information, Isotope 1: Mass = 23.985 amu,
abundance = 78.99%: [sotope 2: Mass = 24,986 amu, abundance = 10.00%: [sotope 3:
Mass =25.982 amu, abundance | L.01%. What is the atomic mass of this element, and

what element is it most likely to be?



